

Homework #3 for CHM112 / Dr. Miroslav Rezac


Name: __________________  
Homework #3

Due: 
___________________
1. Atom consists of these three basic particles: 

Name of particle
Found in Nucleus
Charge

________________________
Yes
No
__________

________________________
Yes
No
__________

________________________
Yes
No
__________

2. Which part of atom accounts for majority of its volume? 

______________________-

3. What can be the Bohr model of atom best compared to? 

___________________________

4. In one sentence, please define the term “orbital”

5. What two basic properties do orbitals belonging to the same subshell have in common?

6.  How do you call atoms, which have the same number of protons and different number of neutrons?

7. What name is given to the number of protons present in the nucleus?

8. How does number of neutrons present in an atom relate to the atomic number?

9. How many electrons can be found within the same orbital and what important property must they differ in?


Maximum # of electrons in an orbital:
 _________________


Electrons must differ in:  
_________________ 

10. Please write orbital diagram of an element which, in its outer-most shell has 7 electrons in s and p orbitals only: 

11. The periodic table lists elements of similar properties in 



ROWS 

 COLUMNS  (circle one)

12. Among elements are there more metals or non-metals? 

13. Where in the periodic table would you be looking for a metal? 

14. How many noble gases are known (look at the periodic table)?

15. Using the periodic table in your textbook, please write the orbital diagram for element antimony (Sb) in the abbreviated form (the symbol of the preceding noble gas stands in place of the electrons of the inner shells. 

